ARMY BURN HALL COLLEGE FOR BOYS
Entry Test Model Paper — Class Two

SUBJECT: ENGLISH

Time: 30 Minutes Maximum Marks: 20

ATTEMPT ALL QUESTIONS

Q.1 Choose the correct option. [2.5]
I The school bell ringing.
A. is B. are C. am
. I watching TV.
A. enjoying B. enjoy C. enjoys
iil. Their babies happy.
A. was B. were C. have
iv. He a very nice car.
A. has B. have C. has been
V. | will finish the workin __ hour.
A. an B. a C. the
Q.2 Write two proper nouns for each group in the given rows. [2]
a. person b. place
Q.3 Write the correct pronouns for the underlined nouns. (We, He, It, She) [2]
a. My brother is tall. b. My sister is eight years old.
C. My cow is white. d. My friend and | go to the park.
Q.4 Write down plurals of the given singular nouns. [2.5]
a man b. tooth c. child d. foot e. story
Q.5 Circle the adjectives and underline the nouns in the given sentences. [3]
a. Ali caught the red ball. b. The dog found a large stick.
C. My mom is a pretty lady.
Q.6 Make sentences of the given words. [3]
a. help b. book C. picture
Q.7 Write an essay on any one of the following topics. [5]

a. Quaid-e-Azam b. My Family



ARMY BURN HALL COLLEGE FOR BOYS
Entry Test Model Paper — Class Two

SUBJECT: MATHEMATICS

Time: 30 Minutes Maximum Marks: 20

ATTEMPT ALL QUESTIONS
Q.1 Fill in the blanks. [5]
i. Write number in words 56 =
i. 3+3+3+3+3=__

i 200+10=__
iv. 400-300=__
V. Ninety nine=__
Q.2 Write the following numbers in ascending and descending order. [2]

105, 125, 115, 130, 135

i. Ascending order

. Descending order

Q.3 Add the following. [2]
i. 6 0 i. 3 3
+3 0 +2 3
Q.4 Subtract the following. [2]
i. 5 6 i. 9 5
-2 4 -6 4
Q.5 Multiplying the following. [2]
i. 4 i. 3
x 5 x 6
Q.6 Solve the word problem. [2]
Amina has 24 books and Hina has 8 books. How many books do both girls have
altogether?
Q.7 Write down table of 4. [5]
i. i.
i iv.
V. Vi.
Vii. viii.
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